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Instructions

» Use black ink or ball-point pen.
» Answer all Questions.
» Answer the Questions in the spaces provided
— there may be more space than you need.
« Diagrams are NOT accurately drawn, unless other\lee indicated.
* You must show all your working out.

Information

« The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice

» Read each Question carefully before you start to answer it.
» Keep an eye on the time.

« Try to answer every Question.

* Check your answers if you have time at the end
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Here is a list of 10 numbers.

2 3 4 4 4 5 6 6 7 7

(a) Work out the range.

(b) Find the mode. 1)

(c) Calculate the mean.

(1)
L+ 4+ + S+ 6+ T 7 = oyog
HS - 4.8
o B
@

Here is a list of 5 numbers.

(a) Work out the range.

W

............. s

(b) Write down the median. (1)

(c) Calculate the mean. 7
Y 4¢ + 9 « jo +1/ = &o | M
Zo -

S S

2

(Total for question 2 is 4 marks)
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Here are the heights, in cm, of 8 people.

I55 171 164 171 167 188 190 151

(a) Work out the range.

jg9o0 — 151

(b) Find the mode. M)

(c) Calculate the mean. “ (1)

155 +171 4+ 164 +/7/ TIET 4188 190 +15)
= 1357

22T - 169,625 1469.625

8 @
(Total for question 3 is 4 marks)

Here are the weights, in grams, of 6 potatoes

150 129 125 133 144 105

(a) Work out the range.

/50 — /105 =¢ 8§

(b) Work out the median weight.

lo S 25 129 13 ) Yy 150

/(\

29 + 133 _ i\
2 ‘3' g

@)
(Total for question 4 is 3 marks)

/




/

5 Here are six cards. Each card has a number on it.

19| 7 |11

15115

(a) Work out the range of the numbers on the cards.

ja —7 = 12
A=
(D
(b) Work out the mean of the numbers on the cards.
[Re e 2~ 5
7
1% +1| + |5 15 + 8+ 7 = 75
2 =05 L [2..5...
6 2
(Total for question 5 is 3 marks)
6 Here is a list of 10 numbers.
1 4 4 5 6 8 11 11 11 14
(2) Work out the range.
¢ —1 = (3
L (S
(b) Find the mode. (1)

.............................

(Total for question 6 is 2 marks)
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Here are seven cards. Each card has a number on it.

120 510181211 9

(a) Work out the range of the numbers on the cards.

/8 — 5 =13

.............................

(b) Work out the median of the numbers on the cards.

5 7 /o // /2 /2 /8

/

(c) Work out the mean of the numbers on the cards.

S 4 q 4o 4l +l2 Fl2¥I

77 =1/

7

f\

(2) .......
(Total for question 18 is 5 marks)




Here is a list of humbers.

8 6 4 5 9 8

(a) Work out the median
' ' 5 ¥
¢ 5 ¢ 7

Here are six cards.
There is a number on each card.
Two of the numbers are hidden.

4151?7637

The mode of the six numbers is 4
The mean of the six numbers is 5

Ther € Must b{ at least
oN<€  mmore

DDD@ED

Work out the two numbers that are hidden.

The Numbers st o o A S+ = 2C
4 + S + 6 + 3 F ¥ T e
3o ~2e = ¥ b B

(Total for question 8 is 3 marks)




Here is a list of numbers.

14 19 15 20 11 14 19

(a) Find the range
20 ~11 =]

(b) Calculate the mean ¥))
Ih 4 19q + 15+ 2o+11 14319 = (|2
Hr - (¢
7] & ..
2)

Andrew says,
”The median is the middle number, so the median is 20.”

! W 14 )5 11 19 2o

(c) Andrew is incorrect, explain why.

(Total for question 9 is 5 marks)

Here is a list of seven numbers.
One of the numbers is hidden.

11,67 107 |9 ?

The mean of the numbers is 9.

Find the value of the hidden number.
749 763 The pumberd must add o 3
{1 + 6 +7 + 1o + 7 +9 = 50

63f50 = /3

(Total for question 10 is 2 marks)
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1 The mean of eight numbers is 41.
The mean of two of the numbers is 29.
Work out the mean of the other six numbers.

Lxy| = 323 Al Aumbers  Fotal 323

2 X 2.9 = 5% Tt © V)omlye/; Fo tol S
22¢ — &8 = 270

O
%7"’ =45

(Total for question 11 is 3 marks)

12 Mark ran ag mean distance of 13.2 km in five days.
The next day Mark ran 20 km.

Find the mean distance Mark ran in the six days.

. Ao S
12.2 X § e 66 km ' = \d

ce + 20 = W6 i~ 6 B deys

36 _ /q,ngl bem

(Total for question 12 is 3 marks)
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